ATLAS SCT Module Test - Tue Sep 28 20:27:39 2004 - UNKNOWN - Module 20220170200832mDaqLTL
Run 9094 Scan 66 Module 1 Link 0 - THRESHOLD (mV) from 0.00mV to 200.00mV in 2.50mV steps, total 81 points

scurves cal0 h Nent = 0 h scurves cal0 i Nent = 0 i scurves cal0 i Nent = 0 i scurves cal0 h Nent = 0 i scurves cal0 i Nent = 0 i scurves cal0 i Nent = 0 i

10000 \ 10000 10000} 10000; . 10000} 10000 \
8000F \ 8000F 8000F 8000F 8000F \ 8000F
6000 | 6000F 6000f 6000F 6000 “ 6000F \
4000F “‘ ‘ 4000F 4000F 4000F 4000F 4000F \
2000F \‘\ 2000F 2000F 2000F \ 2000F 2000F “\
of of o of : of 0
0 20 40 60 80100 24YRABRAO 0 20 40 60 801001 2QI4LRAEMRI0 0 20 40 60 8010QL2IAULFLERIO 0 20 40 60 80100L2(I4LGHSRAI0 0 20 40 60 8010QL2HALEISRIO 0 20 40 60 80100L2AABALAMRAO
[ scurvescall | [Fer=0 § [ scurvescall | [fem-0o § [ __scurvescall |} [reni=0 § [ scurvescall | [fem-o § [ __scurvescall | [reni=o0 § [ scurvescall | [veni=0 }
10000} 10000, 10000} - 10000 10000} 10000
8000F 8000F 8000f 8000F 8000F \ 8000F
6000F 6000F 6000f 6000F 6000 \\ 6000
4000F 4000F 4000F 4000F 4000F \ 4000F
2000F 2000F 2000F 2000F 2000F 2000
of oF of oF oF ) oF \
0 20 40 60 80100 24GLEMBMRIO0 0 20 40 60 80100L2814GEALBRA0 0 20 40 60 801001204 GLBRAO 0 20 40 60 80100 2G}4AGISRAO 0 20 40 60 801001 2G4AGISRA0 0 20 40 60 8010QL2QAGRARRA0
[ scurvescalz | [rer=0 § [ scurvescalz | [fem-0o § [ __scurvescal2 |} [ren=0 § [ scurvescal2 | [fem-o § [ __scurvescal2 | [reni=o0 § [ scurvescalz | [veni=0 }
10000} 10000 10000} ‘ 10000 10000} 10000 3
8000F \ 8000F 8000F \ 8000F 8000F 8000F “
6000 6000F 6000f \ 6000F 6000F 6000F
4000F ; 4000F 4000F 4000F 4000F 4000F \
2000F 2000F | 2000F ‘,\ 2000F 2000F 2000
\
oF 0 > oF . 0 = of N of
ORI O TP T IO TR T bbbttt TR R T T T T T TR T TR T I T T TR T T WO RSO T
0 20 40 60 80100L2QI4GGALRRIO 0 20 40 60 801001 2460 0 20 40 60 801001 2A14GGALBRA0 0 20 40 60 80100l 2AALGISERAI0 0 20 40 60 801001 2Al4QLGASHRAI0 0 20 40 60 801001 Q4G HARRIO
[ scurvescal3 | [reni=0 § [ scurvescal3 | [em-o § [ __scurvescal3 | [ren=0 § [ scurvescald | [em-o § [ __scurvescal3 [veni=o § [ scurvescal3 [ven=o §
10000} | 10000; : 10000} \ 10000; 10000} ‘ 10000 \
8000F 8000F 8000F \ 8000F 8000F \ 8000F I
6000 6000F 6000f \ 6000F 6000 | 6000fF \‘
4000F 4000F 4000F 4000F | 4000F \\ 4000F ‘
2000F 2000F 2000F 2000F \ 2000F §\ 2000
of ) of oF of - 0 \ oF \
YT O T T IO TR T ORI TR TP T TR T T TR T R T TR T IR TRR TR TR W TR T T TR T T YT T T T RSO T
0 20 40 60 80100L2QI4GHEARRIO 0 20 40 60 801001 2Q4G 6RO 0 20 40 60 801001 2A14GGRBRAI0 0 20 40 60 80100L2AALGISRAI0 0 20 40 60 801001 2AALAASRA0 0 20 40 60 801001 2G4 HARRIO



